

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

A Generalization of the Bernstein Polynomials

G. H. Kirov

Presented by P. Kenderov

For the functions $f \in C^r[0, 1]$, $r=0, 1, 2, \dots$ the polynomials

$$B_{n,r}(f; x) = \sum_{k=0}^n \sum_{i=0}^r \frac{f^{(i)}(k/n)}{i!} (x - k/n)^i \binom{n}{k} x^k (1-x)^{n-k}$$

are introduced. For $r=0$ they coincide with the classical Bernstein polynomials, but for $r \geq 1$ in contrast with the last ones, they are sensitive to the degree of smoothness of the function f as approximations to f .

As it is widely accepted, the n -th Bernstein polynomial for a function $f: [0, 1] \rightarrow \mathbb{R}$ is said to be

$$(1) \quad B_n(f; x) = \sum_{k=0}^n f(k/n) \binom{n}{k} x^k (1-x)^{n-k}, \quad n=0, 1, 2, \dots$$

By $C^r[0, 1]$ ($C^0[0, 1] = C[0, 1]$), $r=0, 1, 2, \dots$ we denote the set of all functions $f: [0, 1] \rightarrow \mathbb{R}$, with a continuous derivative of order r on the segment $[0, 1]$.

The following theorems are classical results.

Theorem of S. N. Bernstein [1]. Let $f \in C[0, 1]$ and $B_n(f; x)$ be the Bernstein polynomial for f . Then

$$\lim_{n \rightarrow \infty} B_n(f; x) = f(x)$$

uniformly on $[0, 1]$.

The Bernstein polynomials possess many remarkable properties. We state only two of them.

Theorem of T. Popoviciu [2]. Let $f \in C[0, 1]$ and $B_n(f; x)$ be the Bernstein polynomial for f . Then, for every $x \in [0, 1]$ the following inequality holds:

$$(2) \quad |f(x) - B_n(f; x)| \leq \frac{3}{2} \omega(f; n^{-1/2})$$

with

$$\omega(f; s) = \sup \{|f(x) - f(y)| : x, y \in [0, 1], |x - y| \leq s\}$$

($\omega(f; s)$ is the modulus of continuity of the function f in the segment $[0, 1]$).

Theorem of E. V. Voronovskaya [3]. Let $f \in C^2[0, 1]$ and $B_n(f; x)$ be the Bernstein polynomial for f . Then for every $x \in [0, 1]$ the asymptotical equality

$$(3) \quad B_n(f; x) = f(x) + \frac{f''(x)}{2n} x(1-x) + \frac{\rho_n}{n}$$

with

$$\lim_{n \rightarrow \infty} \rho_n = 0$$

is exact.

From the Voronovskaya's theorem follows that no further improvement of the function f will ensure a higher order of approximation than $1/n$ to the Bernstein polynomials (with the exception of the linear function, for which the polynomial $B_n(f; x)$, when $n=1, 2, 3, \dots$ coincides with $f(x)$).

Consequently, the Bernstein polynomials have a disadvantage, determined by the fact that they don't react to the improvement of the smoothness of function they are generated from.

Thus the following question arises: Is it possible to correct the definition of the Bernstein polynomials, so that the new polynomials to react to the smoothness improvement of the generating function?

The answer happens to be positive.

Definition. A generalized Bernstein polynomial of (n, r) -th order for a function $f \in C^r[0, 1]$, $r=0, 1, 2, \dots$ is said to be the polynomial

$$(4) \quad B_{n,r}(f; x) = \sum_{k=0}^n \sum_{i=0}^r \frac{f^{(i)}(k/n)}{i!} (x - k/n)^i \binom{n}{k} x^k (1-x)^{n-k}.$$

For $r=0$ from (4) and (1) it follows the equality

$$B_{n,0}(f; x) = B_n(f; x).$$

Thus, it is seen that (4) is in fact a generalization of (1).

Moreover, for the polynomials (4) the following two statements, which are natural generalizations of the classical theorems of Popoviciu and Voronovskaya, hold.

Theorem 1. Let $f \in C^r[0, 1]$, $r=0, 1, 2, \dots$ and $B_{n,r}(f; x)$ be the generalized Bernstein polynomial of order (n, r) for f . Then

$$(5) \quad \|f(\cdot) - B_{n,r}(f; \cdot)\|_C = O(n^{-r/2} \omega(f^{(r)}; n^{-1/2})),$$

where

$$\|g(\cdot)\|_C = \sup \{|g(x)| : x \in [0, 1]\}$$

for arbitrary $g \in C[0, 1]$.

Theorem 2. Let $f \in C^{r+2}[0, 1]$, $r = 0, 1, 2, \dots$ and $B_{n,r}(f; x)$ be the generalized Bernstein polynomial of order (n, r) for the function f . Then for every $x \in [0, 1]$ it holds the following asymptotical equality

$$(6) \quad B_{n,r}(f; x) = f(x) + \frac{(-1)^r f^{(r+1)}(x) S_{r+1}(x)}{(r+1)! n^{r+1}} \\ + \frac{(-1)^r (r+1) f^{(r+2)}(x) S_{r+2}(x)}{(r+2)! n^{r+2}} + \frac{\rho_{n,r}}{n^{r/2+1}}$$

with

$$(7) \quad S_m(x) = \sum_{k=0}^n (k-nx)^m \binom{n}{k} x^k (1-x)^{n-k}, \quad m = 0, 1, 2, \dots$$

and

$$(8) \quad \lim_{n \rightarrow \infty} \rho_{n,r} = 0.$$

Proof of Theorem 1. Let $r = 1, 2, 3, \dots$ (for $r = 0$ see (2)). Using, the modified Taylor's formula

$$f(x) = \sum_{i=0}^r \frac{f^{(i)}(k/n)}{i!} (x - k/n)^i \\ + \frac{(x - k/n)^r}{(r-1)!} \int_0^1 (1-t)^{r-1} (f^{(r)}(k/n + t(x - k/n)) - f^{(r)}(k/n)) dt$$

and the obvious identity

$$(*) \quad \sum_{k=0}^n \binom{n}{k} x^k (1-x)^{n-k} = 1,$$

from the definitions of the modulus of continuity and (4) of the generalized Bernstein polynomial, for every $x \in [0, 1]$ we obtain:

$$|f(x) - B_{n,r}(f; x)| = \left| \sum_{k=0}^n f(x) \binom{n}{k} x^k (1-x)^{n-k} \right. \\ \left. - \sum_{k=0}^n \sum_{i=0}^r \frac{f^{(i)}(k/n)}{i!} (x - k/n)^i \binom{n}{k} x^k (1-x)^{n-k} \right| \\ = \left| \sum_{k=0}^n \frac{(x - k/n)^r}{(r-1)!} \int_0^1 (1-t)^{r-1} (f^{(r)}(k/n + t(x - k/n)) - f^{(r)}(k/n)) dt \times \binom{n}{k} x^k (1-x)^{n-k} \right| \\ \leq \sum_{k=0}^n \frac{|x - k/n|^r}{(r-1)!} \int_0^1 (1-t)^{r-1} \omega(f^{(r)}; t|x - k/n|) dt \binom{n}{k} x^k (1-x)^{n-k}.$$

Since $\omega(f; ps) \leq (p+1) \omega(f; s)$, $p > 0$, then

$$\omega(f^{(r)}; t|x-k/n| \cdot n^{1/2} \cdot n^{-1/2}) \leq (t|x-k/n|n^{1/2} + 1) \omega(f^{(r)}; n^{-1/2}).$$

Thus we have the estimate

$$(9) \quad |f(x) - B_{n,r}(f; x)| \leq \omega(f^{(r)}; n^{-1/2}) \cdot A, \quad x \in [0, 1],$$

with

$$(10) \quad A = \frac{1}{(r+1)!} n^{-r-1/2} \sum_{k=0}^n |k-nx|^{r+1} \binom{n}{k} x^k (1-x)^{n-k} \\ + \frac{1}{r!} n^{-r} \sum_{k=0}^n |k-nx|^r \binom{n}{k} x^k (1-x)^{n-k}.$$

Using the Cauchy–Bunyakovskii inequality and (*), we get

$$(11) \quad \sum_{k=0}^n |k-nx|^{r+1} \binom{n}{k} x^k (1-x)^{n-k} \leq (S_{2r+2}(x))^{1/2}, \quad x \in [0, 1],$$

and

$$(12) \quad \sum_{k=0}^n |k-nx|^r \binom{n}{k} x^k (1-x)^{n-k} \leq (S_{2r}(x))^{1/2}, \quad x \in [0, 1].$$

On the other hand, it is known (see e. g. [4], p. 248, formula (269)), that for every $x \in [0, 1]$

$$(13) \quad |S_m(x)| \leq K(m)n^{[m/2]},$$

where $K(m)$ is a constant, depending on m , but not depending on n , and $[m/2]$ is the integer part of $m/2$.

From (10)–(13) the estimate

$$A \leq n^{-r/2} \left[\frac{1}{(r+1)!} \sqrt{K(2r+2)} + \frac{1}{r!} \sqrt{K(2r)} \right] = K_0(r) n^{-r/2}$$

follows. This estimate together with (9) implies (5) and the proof of the theorem is completed.

Proof of Theorem 2. Since from the hypothesis of the theorem, we have $f \in C^{r+2}[0, 1]$, $r = 0, 1, 2, \dots$ it holds $f^{(i)} \in C^{r-i+2}[0, 1]$ and for arbitrary y and x from the segment $[0, 1]$ it holds the Taylor formula with remainder in Peano's form

$$(14) \quad f^{(i)}(x) = \sum_{s=0}^{r-i+2} \frac{f^{(i+s)}(x)}{s!} (t-x)^s + \alpha_i (i-x) (t-x)^{r-i+2},$$

where

$$(15) \quad \lim_{q \rightarrow \infty} \alpha_i(q) = 0, \quad \alpha_i(0) = 0,$$

and $\alpha_i(q) \cdot q^{r-i+2}$ is a continuous function on $[0, 1]$. Then substituting (14) (with $t = k/n$) in (4) and taking into account (7), we obtain the equality

$$(16) \quad B_{n,r}(f; x) = J + R_{n,r}(x),$$

where

$$(17) \quad J = \sum_{i=0}^r \sum_{p=i}^{r+2} \frac{f^{(p)}(x)}{i!(p-i)!} (-1)^i n^{-p} S_p(x)$$

and

$$(18) \quad R_{n,r}(x) = \sum_{k=0}^n \sum_{i=0}^{r+2} \frac{1}{i!} \alpha_i(k/n - x) (-1)^i (k/n - x)^{r+2} \binom{n}{k} x^k (1-x)^{n-k}.$$

We will make some simple transformations of the expression (17):

$$\begin{aligned} J &= f(x) + \sum_{p=1}^r \frac{f^{(p)}(x)}{p! n^p} S_p(x) \sum_{k=0}^p \binom{p}{k} (-1)^k \\ &+ \frac{f^{(r+1)}(x)}{(r+1)! n^{r+1}} S_{r+1}(x) \cdot \sum_{k=0}^r \binom{r+1}{k} (-1)^k \\ &+ \frac{f^{(r+2)}(x)}{(r+2)! n^{r+2}} S_{r+2}(x) \cdot \sum_{k=0}^r \binom{r+2}{k} (-1)^k. \end{aligned}$$

Using the elementary identities

$$\sum_{k=0}^p \binom{p}{k} (-1)^k = (1-1)^p = 0, \quad p = 1, 2, \dots, r,$$

$$\sum_{k=0}^r \binom{r+1}{k} (-1)^k = (-1)^r$$

and

$$\sum_{k=0}^r \binom{r+2}{k} (-1)^k = (-1)^r (r+1),$$

we receive the representation

$$J = f(x) + (-1)^r \frac{f^{(r+1)}(x) S_{r+1}(x)}{(r+1)! n^{r+1}} + (-1)^r \frac{(r+1) f^{(r+2)}(x) S_{r+2}(x)}{(r+2)! n^{r+2}},$$

which together with (16) gives (6).

We should also prove (8) in order to complete the proof of the theorem.

Let $\varepsilon > 0$ be arbitrary. Since

$$\lim_{q \rightarrow 0} \sum_{i=0}^r \frac{1}{i!} |\alpha_i(q)| = 0,$$

then there exists a large integer n , such that for every $q \in [0, 1]$, with $|q| < n^{-1/4}$, it holds the inequality

$$(19) \quad \sum_{i=0}^r \frac{1}{i!} |\alpha_i(q)| < \frac{\varepsilon}{2\sqrt{K(2r+4)}},$$

where $K(m)$ is the constant from (13).

With this choice of the number n , we split the set $\{0, 1, \dots, n\}$ into two subsets $\Delta(n)$ and $\Gamma(n)$, in such a way that in $\Delta(n)$ are included those k , for which $|k/n - x| < n^{-1/4}$ and in $\Gamma(n)$ those, for which $|k/n - x| \geq n^{-1/4}$. Then from (18) it follows the estimate

$$|R_{n,r}(x)| \leq \frac{\varepsilon}{2\sqrt{K(2r+4)}} \sum_{k \in \Delta(n)} \left| \frac{k}{n} - x \right|^{r+2} \binom{n}{k} x^k (1-x)^{n-k} + B(x), \quad 0 \leq x \leq 1,$$

where

$$(20) \quad B(x) = \sum_{k \in \Gamma(n)} \sum_{i=0}^r \frac{1}{i!} |\alpha_i(\frac{k}{n} - x)| \left(\frac{k}{n} - x \right)^{r-i+2} \cdot \left| \frac{k}{n} - x \right|^i \binom{n}{k} x^k (1-x)^{n-k}.$$

Using the Cauchy – Bunyakovskii inequality, the elementary identity (*) and the inequality (13), we get

$$\begin{aligned} & \frac{\varepsilon}{2\sqrt{K(2r+4)}} \cdot \sum_{k \in \Delta(n)} \left| \frac{k}{n} - x \right|^{r+2} \binom{n}{k} x^k (1-x)^{n-k} \\ & \leq \frac{\varepsilon}{2n^{r+2} \sqrt{K(2r+4)}} \cdot \sum_{k=0}^n |k - nx|^{r+2} \binom{n}{k} x^k (1-x)^{n-k} \\ & \leq \frac{\varepsilon}{2 \cdot n^{r+2} \sqrt{K(2r+4)}} \cdot \sqrt{S_{2r+4}(x)} \cdot \sqrt{S_0(x)} \\ & \leq \frac{\varepsilon}{2 \cdot n^{r+2} \sqrt{K(2r+4)}} \cdot \sqrt{K(2r+4) \cdot n^{r+2}} = \frac{\varepsilon}{2 \cdot n^{r/2+1}} \end{aligned}$$

and, hence

$$(21) \quad |R_{n,r}(x)| < \frac{\varepsilon}{2 \cdot n^{r/2+1}} + B(x), \quad 0 \leq x \leq 1.$$

Since the function

$$\sum_{i=0}^r \frac{1}{i!} |\alpha_i(q) \cdot q^{r-i+2}|, \quad q \in [0, 1],$$

is bounded, then there exists a constant $M(r) > 0$, such that for every $q \in [0, 1]$ the inequality

$$\sum_{i=0}^r \frac{1}{i!} |\alpha_i(q) \cdot q^{r-i+2}| \leq M(r)$$

holds. Hence, using (20), the inequality

$$\sum_{k \in \Gamma(n)} \binom{n}{k} x^k (1-x)^{n-k} \leq \frac{K(2r+6)}{n^{r/2+3/2}}$$

(see e. g. [4], p. 248, Lemma 3) and

$$|k/n - x|^i \leq 1, \quad i = 0, 1, 2, \dots,$$

we get

$$\begin{aligned} |B(x)| &\leq \sum_{k \in \Gamma(n)} \sum_{r=0}^r \frac{1}{i!} |\alpha_i(\frac{k}{n} - x) (\frac{k}{n} - x)^{r-i+2}| \cdot \binom{n}{k} x^k (1-x)^{n-k} \\ &\leq M(r) \sum_{k \in \Gamma(n)} \binom{n}{k} x^k (1-x)^{n-k} \leq M(r) \frac{K(2r+6)}{n^{r/2+3/2}}. \end{aligned}$$

If it is necessary, we increase n until we obtain

$$M(r) \cdot K(2r+6) \cdot n^{-1/2} < \frac{\varepsilon}{2}$$

and

$$|B(x)| < \frac{\varepsilon}{2 \cdot n^{r/2+1}}, \quad \forall x \in [0, 1].$$

Hence, using the estimate for $B(x)$ and (21), we get

$$|\rho_{n,r}(x)| := n^{r/2+1} \cdot |R_{n,r}(x)| \leq n^{r/2+1} \cdot \|R_{n,r}(\cdot)\|_C < \varepsilon$$

and thus the proof is completed.

References

1. S. N. Bernstein. Démonstration du théorème de Weierstrass fondée sur les calculs probabilités. *Comm. Kharkov Math. Soc.*, (2), 13, 1912, 1-2.
2. T. Popoviciu. Sur l'approximation des fonctions convexes d'ordres supérieurs. *Mathematica*, 10, 1934, 49-54.
3. E. V. Voronovskaya. Determination of the asymptotic form of the approximation of function by S. N. Bernstein polynomials. (Russian). *DAN (A)*, 1932, 79-85.
4. I. P. Natanson. Constructive function theory. (Russian), Gostechizdat. Moscow-Leningrad. 1949.

Higher Institute of
Food and Flavour Industries.
26 Maritza bul.
4002 Plovdiv,
BULGARIA

Received 18.06.1991